Fex (2) 6
Tk (=) 8

ot

it

12

@38 4

DB, 2HNWE "

B&ZE (—) 16

BRE (Z) 18

BRZEMEMDR 20

TebEMEME 22

RS 20




SINRE - LSRER 26

@8 12 =gy ;

@B 16 DEEIRN OB B

ShARE
?
(Shvk:3s] 52
g A5 () 54
SERON (=) 26 HDRISE ~ M
ZLNR (DYET
o ihes s 60 515 ~ —0BRR)
BIS g 62
Hor g 64 zoaa;;z WAL ik

TRERE




Fex (2) 6
Tk (=) 8

ot

it

12

@38 4

DB, 2HNWE "

B&ZE (—) 16

BRE (Z) 18

BRZEMEMDR 20

TebEMEME 22

RS 20




60

ol A1 fib %G U

1.(7)(0) (@) A—ta =i §Emman  HE210 TolT—1m

o A. 70024 =294 - B. 70224 =29---6
7{@ ? C. 70424 =298 > D. 706+24 = 29---10

A (o) B.
C. D. (6) (D

OEZ 5 20 i, A9
FE[ = 4n ¥~ w63 HEBHEFRNED R =458
VAR 3K B B Bt 00 B 3 o BIAvA24  ABAEHRHERL0 -

LIRS 900 % WL F 3O B E AR S HE B AT T R FTR EBRNE ?

AT B AT 17 3#
A. 42 21 HEARB > BEVEAIBD - FIBRB °
B CAID » DBYEENTERD - FFRD °
B. 21 40 A 42x21=882
C.51x18=918
C. 51 18 ] ]
D. 16 51 {c}
OEZ S

%[ Wik X MK G E -

i, KA
BRATAMRA ORI - AR F—EHBEEK  ERAR  BRENDLATREHEE °

(MERINER)

ARG BRES24  AMEE — A 18HERE - KT HURST2  HHEERE

T %) 2 218=4

A $3 B. $4 o
C. $20 D. $46 (B}
OEZ 1.2

& A RIR A RIFARFRLIEA AL o

i, ResdA
BMA ST R E NS SRR ER T HA = LA ME - R ORF



5. ®t 4. C

FEE RIS — 3 4R
[ THITEETRLEER 'ﬁr—‘%"lﬁ‘JD P | S A& 326 89 7R 2 45 B2 0T 300 ©
, % 26X 10=260 » 26 X 11 =286 *
—26x12=312
TUARR26H R H » AR R 268945
6. (a) ®& i |A. 28626 =11
b) M2 & % |B.302+26=11-16
(c) B B/ —=|C.312+26=12
D.338+26=13
7.D
— NPEET
et dis Rrh 23025226 0915 3 o
MIEERELXCBOBES  AHFL
H|BREZEERGRLT - DEZFE S 5. 36
[ RAES - —% 3 R
B Akl BB 2 R & BRI —Tr o - ey ~1ea_
E|EAWBHLEF o BRI o ﬁf ffgg;ﬁ ".Ié;ég_;%
—|ECcw by - EDH BT - A B 0707

ME|F B EHEE =ZMBIZHG2

= |4 18x2=36
SIAREB-IZR R
6. 5 (19694x%H :
1. 2% 2. Bt 3.C 19°38-57~76~95" 114
100479 » 19 6945 $ 3L 518 © )
2 s 7.31 (—EER D OBEHEE AT A

k ‘ VAiE B #E 3] o )
1. D (23894 9MEAEH % 23X 9=207)

8. 2460 84
2. B (16694F%2 1 16~32" 48~ 64" (1264422 1122436~ 48" 60 °
8096~ 112~ 128 ] 72~ 84 > 96 - ]
INFET
B A6 A 168945 3 9. 14 (98+7=14]
3. C 10. 16 (24X4=96"'96=<X6 -
) $=96+6=16)
—HM %
13 etesE 13263952 11. 2 [Z:T’Tyl%ﬁil8%ﬁ%é{3§i’ PRS2 18
f; 657891~ 104 750 £ 100 ﬁ!34%§>1(°72718=4i
LS EREYE AN XU O 94~ 18=5"4"108~18=6"
[ MR S2A91 0 52491 =143 120+18=6"12 198~18=11 - )
4o [S0T13=311 10013 =79 12. (2) 24
o [BS0E T002R - 13 #95%  Ao (i A R F AR M R K
T ReEEES R E D 13X4=52" 24D 0 DA E R 1 24 - 48 ~
T [13X7=91"52+91 =143 700w

A FHRERGEEREIN SR (4 1) 8





